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e Please check that this qu@on paper-contains 11 printed pages.

e (Code number given oﬁge right hand side of the question paper should be
written on the title@e of the answer-book by the candidate.

e Please check that this question paper contains 30 questions.

e Please write down'the Serial Number of the question before
attempting it.

e 15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the
students will read the question paper only and will not write any answer on
the answer-book during this period.
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(i) 3T YH-Y7 5830 Y97 8 5l IR @US] — 37, &, G 37K ¢ H faurfeia & /

(iii) @US 37 § Uh-Uek 37 qIct 6 J97 & | GV § H 6 ¥97 3 I570 @ J9% 2 37
FE | @GS TH 10 97 AH-F17 3% & & | @5 7 7 8 Y97 8 577 & y9%
4 3% FTE |

(iv) Yo797 7 HI5 GHF fdeq 781 8 | a9ifd 1 3% aid 2 o1 5, 2 37! aict
2 Y991 # 8 37l arct 4 Fo1 7 3N 4 3H] et 3 Fo 7 ARk f[dheq FaT
?@ﬂq?/@#wﬁﬁmﬁqwﬁwﬁﬁ#%ﬂwwmﬁw

/

(v)  Sapact & IIIT & AT TFE |

General Instructions :

(i) All questions are compulsory.

(it)  The question paper consists of 30 questions divided into four sections —
A, B, C and D.

(iit)  Section A contains 6 questiops>of 1~ mark each. Section B contains
6 questions of 2 marks eac tion’ C-contains 10 questions of 3 marks
each and Section D contaz questlons of 4 marks each.

(iv)  There is no overall ch owever, an internal choice has been provided
in two questions o mark each, two questions of 2 marks each,
four questions of rks each and three questwns of 4 marks each. You
have to attempt only one of the alternatives in all such questions.

(v) Use of calculators is not permitted.
Qs A
SECTION A

97 G&IT1 G 6 T F® J97 1 3% F & |

Question numbers 1 to 6 carry 1 mark each.

1. A uh a9 9 B a=15,d =—3dA a, =07, dl n I AH JTd T |
Ifin an AP.,,a=15,d = -3 and a, =0, then find the value of n.

2. ?T%sinx+cosy=1;x=30°ﬁ%y@ﬂ3®m%,?ﬁyaﬂmﬁﬁﬁﬁﬁl

AYAT

(cos 48° — sin 42°) T U 1A VT |
If sinx +cosy=1; x=30° and y is an acute angle, find the value of y.

OR
Find the value of (cos 48° — sin 42°).

130/5/3 |
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T THEY TSl 6 SFha 25 v T q9r 121 1 GHY § | SR | SISt
3TUT 3T HIRT |

The area of two similar triangles are 25 sq. cm and 121 sq. cm. Find the
ratio of their corresponding sides.

4., T GEAIB a dAT b *I 4.9. (HCF) 5 41 3! @.9. (LCM) 200 2 |

%A ab A HINT |
The HCF of two numbers a and b is 5 and their LCM is 200. Find the
product ab.

5. ko 98 A F1d hitoe, forees e x = 2 THieor kx? + 2x — 32 0. T Tk &
2 |

toran
k % 9 A9 3@ ifsre, foeh fore fgama afieror 33% '+ kx + 3 =0 % 4o

et adT 99 & |
Find the value of k for which x = 2 is a solution of the equation
kx? + 2x — 3 = 0.

«&" OR
Find the value/s of k for @th the quadratic equation 3x2 +kx +3 =0
has real and equal roo

6. x% d AW ¥ fom famgali A(x, 2) @1 B(9, 8) & 9 &I gl
10 TS & |

Find the values of x for which the distance between the points A(x, 2) and
B(9, 8) is 10 units.
us

SECTION B
o7 GEIT 7 G 12 T 9P Fo7 F 2 3F B |
Question numbers 7 to 12 carry 2 marks each.
7. U S o UTE U 9T 8 fSHeh 6 Beeh] W Hfifgd 1em” 3Afhd & -
Al |B C| |A| |[A| |B
39 U ! Ueh S Whebl SITAT @ | $Eh! &RIT UTRIehal & foh (i) A 99 &1 (ii) B Id
&2
A child has a die whose 6 faces show the letters given below :
Al |B C| |A| |[A| |B

The die is thrown once. What is the probability of getting (i) A (ii)) B ?
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8. 19T UHEUS fafy g 612 AT 1314 W1 H.9. (HCF) 1d hITT |
HAAT
gurtsy fob ig o fawm quifeh 6m + 1 I 6m + 3 1 6m + 5% &9 H Bl 7,
&l m I3 qUTieh B |
Find the HCF of 612 and 1314 using prime factorisation.
OR
Show that any positive odd integer is of the form 6m + 1 or 6m +'3 or
6m + 5, where m is some integer.
9. ko frg um & fou, Waess gt fem
2x +3y =17
k-1x+(k+2)y=3k
% AUNHT €9 F 3T &A & ?
For what value of k, does the system of linear equations
2x+3y="17
(k- 1Dx+(k+2) ye3k
have an infinite number of & ’%ons ?
10, % T T A S T T A A Sy, S, - 202 4+ 0 7 T R,
T nal ug Fd %’ﬁﬁg@%
%’ AAAT
Ife Th THIA IS T 1741 US 35 109 U ¥ 7 Afh ®, df 916 FAR Jd
HIfST |
If S,, the sum of the first n terms of an A.P. is given by S, = 2n? + n, then
find its n'® term.
OR
If the 17 term of an A.P. exceeds its 10" term by 7, find the common
difference.
11.  foigatl A(2a, 4) T B(-2, 3b) %l e arc1 T@rave 1 wea-foig (1, 2a+ 1)
8| adYl bk HH AG HINT |
The mid-point of the line segment joining A(2a, 4) and B(-2, 3b) is
(1, 2a + 1). Find the values of a and b.
12. WiRmeear q HIfSe fob dwamsti 3, 4, 4, 4, 5,5, 6, 6,6, 7 H 8 A1gesAqT I T]
Teh G, 39 I3 & AT & 9 &l |
Find the probability that a number selected at random from the numbers
3,4,4,4,5,5, 6,6, 6, 7will be their mean.
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SECTION C

9T G&IT 13 @ 22 7% JAF Jo7 & 3 3% 8 |
Question numbers 13 to 22 carry 3 marks each.

13. TH A ABCH, £ B = 90° a1 fag D 41 BC &I wea-fag @ | g HiNT 6
AC? = AD? + 3CD?.
Jrqa
3R 1 ¥, T THfgarg BYs ABC, 58 AB = AC 8, i 9ie1s 715 491 CB
T wH fag E f@ 8 | Ife AD L BC @ EF L AC 3, @ fig i fh

A ABD ~ A ECF.
A

&
WA
E @Q B D C
S e
In A ABC, £B=90° and D is the mid-point of BC. Prove that
AC? = AD? + 3CD?.

OR
In Figure 1, E is a point on CB produced of an isosceles A ABC, with side
AB = AC. If AD 1 BC and EF 1 AC, prove that A ABD ~ A ECF.

A

.
E B D C
Figure 1

P.T.O.
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15.

30/5/3 |

JTRfd 2 H, 7 & B3 aret g9 % o frsT@vs S hg W 60°, 80° qAT 40°
% I SHTd B, hl DT [hAT TR 3 | DHTIhd T 1 &A% T ShifeTT |

In Figure 2, three sectors of a circle of radius 7 cm, making angles of 60°,
80° and 40° at the centre are shaded. Find the the area of the shaded
region.

\Q Figure 2
Th S =R ATl mﬁaﬁaﬂﬁ3ﬁmmﬁﬁ@ﬁsﬁéﬂ%|
SRR fiema Y5 9t o1, wg e & et onem ¥
IN FIAT AL o1, e frerms i ariar a8 S ot | Afe wh fem
&1 Fars 10 I off, ot fiemm i st enfiar gen Sueht aTsfaes i s
HIT | (7 = 3-14 T HIR)

Tsh Aghl Id ¥ W T doHhR ! i, foEehl amum Brear 18 aHi qen
S8 32 Ui B, B W 3H YR Giell Hdl 7 F W@ 1 TaErhR @ &9 ar
2 | A 39 TR < < SaTE 24 Bt B, Ot fodleh g (Suverd & 1 wAH
e k) T il |
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16.

17.

18.

130/5/3

A juice seller was serving his customers using glasses as shown in
Figure 3. The inner diameter of the cylindrical glass was 5 cm but bottom
of the glass had a hemispherical raised portion which reduced the
capacity of the glass. If the height of a glass was 10 cm, find the apparent
and actual capacity of the glass. (Use n = 3-14)

A girl empties a cylindrical bucket full of sand, of base radius 18 cm and
height 32 cm on the floor to form a conical heap of sand. If the height of
this conical heap is 24 cm, then find its slant:height correct to one place
of decimal.

e x* + x® - 14x® - 2x + 24 A T T HITC Srwifeh fen 0 @ R
V2 e 2 7 3 v

Find all the zeroes of t%&ynomial x* + x% — 14x% - 2x + 24, if two of its
zeroes are ~/2 and —

fig P, figait A2, DR B, ~8) % frem ot tarave #1 g8 3R
EZGIRAED %:%% | afc P3@T 2x —y + k = 0 R 2@ 8, @1 k 1 A F1@
HIT |

AYAT

p 1 I8 T F1d g [eek g 795 (2, 1), (p, 1) q41 (-1, 3) @ 3 |

Point P divides the line segment joining the points A(2, 1) and B(5, —-8)

such that % = % If P lies on the line 2x — y + k = 0, find the value of k.

OR
For what value of p, are the points (2, 1), (p, —1) and (-1, 3) collinear ?

forg shifor 6 -

tan 0 cot O cos 0 + sin0

1-tan® 1—cot® ~ cos6—sind
AYAT
'ﬂﬁcose+sin6=&cos@%,?ﬁGSIiEQﬁFcosﬁ—sin(ﬁ:\/§sin63&'|
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19.

20.

21.

22,

Prove that :
tan O cot O cos 0 + sinb

1-tan® 1—cot® = cos O —sinb
OR
If cos © + sin © = /2 cos 0, show that cos 0 — sin 0 = /2 sin 0.

Th hichsl BEEE (hostel) o ATEeh SEHEE T &1 Tsh 9T H¥d g 920 9
39 W 4R tar & fop 9 3 forae feg 9w 4 o forn 2 1w fommeff A o,
S 25 f&T WIS AT 8, T 4,500 3TCT HiH USd & € Ueh foenefi B i, S
30 fe7 Wi =t 8, T 5,200 3¢ A USd & | Hifdes fRra = 3 ufafes
% HISH 1 Jod F1d I |

A part of monthly hostel charges in a college hostel are fixed and the
remaining depends on the number of days one has taken food in the
mess. When a student A takes food for 25 days, he has to pay ¥ 4,500,
whereas a student B who takes food for 30 days, has to pay ¥ 5,200. Find
the fixed charges per month an(@he cost of food per day.

4 IRERAT s 1 S5 jﬁ@\%ﬁﬁm

o 10 - 14 1@\9?8 18 -22 | 22— 26 |26 — 30| 30 — 34 | 34— 38

. Q\‘
aRETa: | 8 O 6 11 20 25 29 10

Find the mode of the following frequency distribution :

Class : 10-14/14-18 | 18-22|22-26 |26—-30| 30—-34 | 3438

Frequency : 8 6 11 20 25 22 10

2 Hohgl gt | firg Fif for amar g9 i T @t Sfand st et 9 6 T
Al &, THH T8 i Bidl 8 |

In two concentric circles, prove that all chords of the outer circle which
touch the inner circle, are of equal length.

fag fIfvT & (5 - 32) t ufms @@ 8, Jefs o w2 6 V2
T T R |

Prove that (5 — 3+/2) is an irrational number, given that +/2 is irrational
number.

130/5/3 |
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Qus 3
SECTION D

J97 G&IT 23 G 30 T b Jo7 & 4 37FH 5 |

Question numbers 23 to 30 carry 4 marks each.

23.

24.

THAA T @Sl T ASH 3194 & 100 Hi. hT g W f&d & I 7@ waft
3T HIVT 30° UTAT & | Teh ASehl, Sl Ush 20 HY. S W & ¥ W EE! 7,
341 vaft 1 ITIT P 45° UTAT B | TS AT Asehl &t ht faudia Temmsn

3 | vt 1 et ¥ gt I il | (e man B V2 = 1-414)
T

i W % TH g A ¥ TH 3d gL fa0H H1 39 FIT 60° 2 | 30 HHUS hi
ISH % UTA, I B 30° B WGl § | AR g oM UH I SuE
3600+/3 et W 3 T 7, a1 fad™ 1 =1t i shifere |

A boy standing on a horizog@ane finds a bird flying at a distance of

100 m from him at an el ion of 30° A girl standing on the roof of a
20 m high building, fi (?he elevation of the same bird to be 45°. The boy
and the girl are on t@%opposite sides of the bird. Find the distance of the
bird from the girl. (Given v2 =1-414)

OR

The angle of elevation of an aeroplane from a point A on the ground is
60°. After a flight of 30 seconds, the angle of elevation changes to 30°. If
the plane is flying at a constant height of 3600+/3 metres, find the speed
of the aeroplane.

e SERar s Ol T SRARATE x 91 y o O J1d hifT Sf&feh N = 100
qAT HIETH = 32 3 |

33@ :

10 -20

20-30

30 —40

40 - 50

50 — 60

Rl

fernfert < @

25

30

10

100

130/5/3 |
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1 IRERAT e *1 T [ 31U YRR w1 el aRERdr 9 (dRer) @i,
37d: 39 e I HIEIH HH 1A T |
o 0-10|{10-20|20-30|30-40 ({40-50|50-60| 60—"70
SRERAT: | 5 15 20 23 17 11 9
Find the values of frequencies x and y in the following frequency
distribution table, if N = 100 and median is 32.
Marks : 0-10|10-20|20-30|30—40 |40 — 50{50.~ 60 | Total
No. of Students : 10 X 25 30 ¥y 10 100
OR
For the following frequency distribution, draw a cumulative frequency
curve (ogive) of ‘more than type’ and hence obtain the median value.
Class : 0-10|10-20 (%0—30 30-40({40-50|50-60| 60—"70
requency : 5 i& 20 23 17 11 9
>
2. frgdfmfs: O

1+c¢ + tan 0)(sin O — cos 0)

>3 3 = sinZ 0 cos? @
(sec” 0 = cosec” 0)

Prove that :
(1 +ccot O +tan 0) (sin O — cos 0)

(sec3 0 — cosec® 0)

26. TH 97 hl SW & ol dTcdl, WP o (S o AHR Hl 7 | AG 38h Hu
don =t gt Rl o = A 45 9 qen 25 | § o STedt i e
(Seater) SaTE 24 T B, A1 39 dledl &l a9 T T G7g HI AT T SA%A

FTa hifsre | g oft Sa hifsre fop gaw foraam 9Tt o1 TeRar ® | (n=%$l'5ﬁﬂ
Hifs)

An open metallic bucket is in the shape of a frustum of a cone. If the
diameters of the two circular ends of the bucket are 45 cm and 25 ¢cm and
the vertical height of the bucket is 24 cm, find the area of the metallic
sheet used to make the bucket. Also find the volume of the water it can

hold. (Use = ?)

= sin2 0 cos2 0

:30/5/3 | 10
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28.

29.

30.

T Sl 360 TRt I g UwHEHW W@ @ d w2 | ARG A =
5 fori/erer a1feres g1, @ 3¢ I 9 1 9 9 wHE Adl | e <kl = [
HIT |

AT

x % TIT g HNT

1 =1+1+1;a¢b¢0,X¢O,X¢—(a+b)
a+b+x a b x

A train travels 360 km at a uniform speed. If the speed had been 5 km/hr
more, it would have taken 1 hr less for the same journey. Find the speed
of the train.

OR

Solve for x :

I =14§§1;a¢b¢0,xio,x¢—(a+b)
a+b+x % X
%2’
T GHI A H, naTQ\@— Aol 'mal 92 L R | () SHH (mn)dl 92 T
hiferg, (u)sran(m&%awaﬁwm@ﬁm

In an A.P., the nt term.is 1 and the m™ term is l Find (i) (mn)®
m n

term, (i1) sum of first (mn) terms.

firg IfTT fop v wgentor Bt & ot &1 o, =1 Q1 Yosti o ai o ANTHA
% SR BT R |

Prove that in a right triangle, the square of the hypotenuse is equal to
the sum of the squares of the other two sides.

4 &t s o1 T 99 @ieT | 39 99 W UE Q SORi-@nedi o W hl
Hifsre feh = 1 T 60° 7 |

Construct a pair of tangents to a circle of radius 4 ecm which are inclined
to each other at an angle of 60°.
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